1.937
(MTG. BOSSES)

TEXTURED FLUSH OR
RECESSED SMOOQOTH 1V .030

R
4X ) .188
406
4.875
2.063
2
G - - ®)
o [0} q ) Y
1 |
= =17 57 \L J
4X 158 ——=
4X . 9 e —
b.090 4% .188 2500
2375 (MTG. BOSS — = =
(MTG. BOSSES) |.D. DEPTH)

BATTERY NOT INCLUDED

s

A0
L/

VM-35M19VMTT

281

A,

VM-35B-PCB (REF.)
VM-35C-PCB (REF.]

BATTERIES NOT INCLUDED——_ 4

VM-35M2AAMTT

5.500

VM-35B-PCB (REF.)
VM-35C-PCB (REF.)

4X ®.090

=il

E—

V' .010 TEXTURED RECESS

379

;} 2.781
:% @
=/ \ J
~— 4X.188

~—— 2.031 ———

VM-35BOOT:
OPTIONAL, SILICONE
RUBBER BOOT

v M 35 M Xk M XK Kk Enclosure Opfions
= OMIT ENCLOSURE COLOR: BLACK
03 ENCLOSURE COLOR: BONE
T END PANEL: TEXTURED TO MATCH ENCLOSURE
S END PANEL: SMOOTH, UNTEXTURED FOR INFRARED APPLICATIONS L )
T COVER: TEXTURED FLUSH ! J
R COVER: RECESSED SMOOTH
- 3250
2AA BASE: ACCEPTS TWO AA BATTERIES
19V BASE: ACCEPTS ONE 9V BATTERY P o
| | ' * 11 11 ] D,
1 VM-35BMB19V BASE: ACCEPTS ONE 9V BATTERY : I = N
. 15X 875X .25 GRAY POLYESTER FOAM WITH ADHESIVE 801N - -
9 CNT-9V 9 VOLT BATT'Y STRAP, 6" LEAD - I ‘ ‘ ' ‘ S i C
8 CNT-AA-SINGLE-F SINGLE (FEMALE) AA BATTERY CONTACT I -
7 CNT-AA-DUAL-M/F DUAL MALE / FEMALE AA BATTERY CONTACT 1 - 1.031
6 CNT-AA-SINGLE-M SINGLE (MALE) AA BATTERY CONTACT 1 : SHEET 1 OF 1
5 SCREWS-HL5/8-BR THREAD FORMING ASS'Y SCREW: 5/8 INCH 4 4 NOTES: - " | DRWNBY APP.BY SCALE: DATE:
4 VM-D2 BATTERY COMPARTMENT DOOR ] ] T BATTERIES NOT INCLUDED O !:) ORLP Kzgzér.gg [P A DA
3 VM-35CMBT COVER: TEXTURED FLUSH I ] 2 I\é\)OUNTgl%;CBOSSSES SCCEP/T 2&4-24 X (1: /4'(')THREAD v Siae VM-35 ASS'Y
2 VM-35EPT END PANEL: TEXTURED FINISH TO MATCH ENCLOSURE 1 1 FORMING SCREWS FOR A 1/16" THK PC BOARD.  rowermcesuess sieerenio iy vom oo s s v _ -
] VM-35BMB2AA BASE: ACCEPTS TWO AA BATTERIES 1 N SCREWS AVAILABLE FROM POLYCASE. XXX £.030 | TS SRANING AXD THE RFORRATON CoNTanes | 0o | OV SIZE:
ITEM NO. | PART NUMBER DESCRIPTION VM-35M2AAMTT/QTY. | VM-35MI19VMTT/QTY. X XXX +.015 | 105eerRopuCeD, conep Of st any

TITLE:PRODUCT DETAIL DRAWING

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE



|

873 576 531

2 b

2X R.250
S
4X 188 —=— |=—
4X®.090 100 — TEXTURED RECESS ¥ .010—— 2.031
\ 4XD.188  (WALL THK) - Rlge
T ——X I EEEEI
< 2 7 ::1:%1‘7'
(€ v, ::::;j‘_\uq
el
\\ T\ 2.781
2.358 i
2.063 |
} ] 1l
281 379
i 712 EE 2 5.500
i { - |
H 1\ |V 1 } L
i R 7SI I ID) —He=—t
// I\ ;L"T : ‘}
100 (BATTERY =ami
COMPARTMENT) L 1.168
/) H »_J “
i i
: < =g
\ ] ] »,
N N i ‘ " % )
|
A<—' SO0 === 100 BATTERY COMPARTMENT
ot ACCEPTS ONE 9V BATTERY SHEET 1 OF 1
} — = NOT INCLUDED ™ | DRWN BY | APP. BY SCALE: DATE:
SECTION A-A ( ) D POL YCASE D.F. BB. 11 5/11/07
NOTE: YOUR PERFECT FIT JOB NO: PRODUCT:
1. MTG. BOSSES TO ACCEPT A #4-24 X 1/4 THREAD FORMING SCREW USED WITH A 1/16 | VM-35BMB19V
THICK PCB. (SCREWS ARE AVAILABLE FROM POLYCASE.) OTHERWISE SPEGIFED, | PH 140024122, sd00%0uad P sdosnecoss | SUSTMER: SIZE:
2. PREMIUM MOLDED ABS, 9V BATTERY STRAP W/&" #26 AWG WIRE LEADS INCLUDED. XX £030 e O e | B

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE

TITLE:PRODUCT DETAIL DRAWING



NOTES:

1.
2.

COLORS AVAILABLE: BLACK, BLUE, RED
MATERIAL: SILICONE RUBBER WITH PREMIUM SILICONE COATING

R.08 (TYP.) —

SHEET 1 OF 1

" | DRWN BY |APP. BY SCALE: DATE:

O POL YCASE D.F. - 11 10/18/07

YOUR PERFECT FIT JOB NO: PRODUCT:
- VM-35BOOT

TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. -

. PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 .
OTHERWISE SPECIFIED: CUSTOMER SIZE
X XX + 1 20 THIS DRAWING AND THE INFORMATION CONTAINED
: - ARE THE PROPERTY OF POLYCASE AND ARE NOT - B

X. XXX +.060 | 10 BE REPRODUCED, COPIED OR USED IN ANY

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE TITLE: PRODUCT DETAIL DRAWING



— 2X R4.840

TEXTURED FLUSH OR
RECESSED SMOQOTH V .030

Y/ 2X R6.075

5.500 4.875

1.082**

! ¢

8X R.100

i ™™ .100 (WALL THICKNESS ON SIDES)

/4 72

AL.]?)O

(WALL THICKNESS ON TOP)

NOTE:

R.188
ALL AROUND

1. MTG. BOSSES TO ACCEPT A #4-24 X 1/4 THREAD FORMING SCREW USED
WITH A 1/16 THICK PCB. (SCREWS ARE AVAILABLE FROM POLYCASE)

2. ** DIMENSIONS TO THEORETICAL SHARP CORNER

1.962

(SCREW TOWERS)

- 1937
(MTG. BOSSES)

e —
i =
.
1 U/ i
=
| } I;' | 4X ) .188
| o )
i L—Ln'_:—:i_’ - - G i
15 5 - : @
i 406
| 2.063
|
[
/ok .
b= AR\ ——
- 4X .158 4AX D 217 4X 0 .090
(MTG. BOSS) 0 375
4X .188 (MTG. BOSS I.D. DEPTH) (MTG. BOSSES)
— 500 r=—— (SCREW TOWERS)
SHEET 1 OF 1
“ |DRWN BY | APP.BY |SCALE: | DATE:
WO D.F. BB. 14 511/07
&Qzlpngé‘gg JOB NO: PRODUCT:
TOLERANGES UNLESS | 00 e die 94 04ad o o sacoms - VM-35C
XXX £030 | (RO AR T TromAIon ot || SIge
X. XXX +.015 | 10 BE REPRODUCED, COPIED OR USED IN ANY

TITLE:PRODUCT DETAIL DRAWING

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE



051 .050
I

=

o

583
(TOP OF PCB -
BOSSES ON CASE)

A

I

4X R.100
~.030 (TYP.)

Ul Pt

593 712
oot -

128 J‘
(TOP OF PCB
BOSSES ON BASE)

. PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 .
OTHERWISE SPECIFIED: CUSTOMER: SIZE:

\ 4X R.040

STANDARD END PANEL MATCHES ENCLOSURE COLOR AND IS TEXTURED.
ALSO AVAILABLE IN SMOQOTH, INFRARED PERMISSIVE MATERIAL.

SHEET 1 OF 1
" | DRWN BY APP.BY SCALE: DATE:

O POL YCASE D.F. B.B.PROBLCT:5/11/07

YOUR PERFECT FIT JOB NO:
- VM-35EP

TOLERANCES UNLESS 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.

X Xx + 030 THIS DRAWING AND THE INFORMATION CONTAINED
N = ARE THE PROPERTY OF POLYCASE AND ARE NOT A

X XXX £.015 10 o oD D O D N A | TITLE:PRODUCT DETAIL DRAWING



~~—— 2.514

— 2XR.167

WY

L

i

NN

375 2295 2.425

!

— 171
R.250 .100
i \ iﬁ r 063

X POLYCASE

YOUR PERFECT FIT

TOLERANCES UNLESS
OTHERWISE SPECIFIED:

XXX +.030
XXXX £.015

il
|

SHEET 1 OF 1

™ |DRWN BY APP.BY SCALE: DATE:
D.F. B.B. 1:1 5/11/07

JOB NO: PRODUCT:
- VM-D2
1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A. - -

PH#: 1-800-248-1233, 440-934-0444 FAX#: 440-934-0088 .
CUSTOMER:

THIS DRAWING AND THE INFORMATION CONTAINED SIZE
ARE THE PROPERTY OF POLYCASE AND ARE NOT - A

TO BE REPRODUCED, COPIED OR USED IN ANY TITLE: PRODUCT DETAIL DRAWING

WAY DETRIMENTAL TO THE INTEREST OF POLYCASE



/END PANEL LOCATION

~— 2.000 ———— —=~=—.063

A axRI72

4X @125 / NOTES:
\_%7 | 1. PCB SIZES INCLUDE .03 CLEARANCE
o - - o i FROM INNER WALLS AND SCREW

2XR1.500 ——— ] TOWERS WHEN UTILIZING THE
| MOUNTING BOSSES FOUND ON THE
VM-35 BASE WITH EITHER THE TWO AA
i OR ONE 9V BATTERY COMPARTMENT.
! ! 2. PCB BOSSES WILL ACCEPT A #4 X 1/4

THREAD FORMING SCREW. (SCREWS
ARE AVAILABLE FROM POLYCASE)

2.344
2.725
2X 2.554 ' '
3.477
2X 2.303
Fan _ _ Fan i
e © |
581 1
b ( 323 !
1417 — i
2X R8.137
|| 1 LN N} 1 1 1N Wl 1 || | )
UNLESS OTHERWISE SPECIFIED: PART NO.
DIMENSIONS ARE IN: INCHES[mm] _ -
TOLERANGES: ANGULAR: 82° ;’/Ié\?) SSCB:I'FA B2AA-PCB
TWO PLACE DECIMAL: +.010
THREE PLACE DECIMAL: +.005 _ 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 US.A.
PHit: 1-800-248.1233, 440-934-0444 FAX#: 440-934-0088
PROPRIETARY AND CONFIDENTIAL
THE INFORMATION CONTAINED INTHIS | CLIENT SIZE TITLE: REV
DRAWING IS THE SOLE PROPERTY OF i
POLYCASE. ANY REPRODUCTION IN PART - NAME DATE A SeCOﬂd&gﬁﬁgerOhOﬂS -
i OR AS A WHOLE WITHOUT THE WRITTEN M
ZONE|REV.| DESCRIPTION | BY [APPRD| DATE | SRAsawnoemmioume vt i Danr 9/5/2008 <~ a|E: 101 @ SHEET 1 OF 1
REVISIONS CAD FILE: VM-35BMB2AA-PCB CHECKED - 12/31/2999 s : G

5 4 3 2 1



~ 2977 END PANEL LOCATION
-~ 2107 ———=] —
7 4X R.143
/
2XR1.500 —__ / I
@ - - S '
2.469
INCLUDES .031 CLEARANCE FOR
2X 2.566 2.783 BATTERY COMPARTMENT ON BASE
2X 2.315 5487
* o) _ - Q\ |
468 | 305 1
-~ 1676 —~ %
-~ 1937 ——— =]
X V4 — 4X 125
- 2705 ——————
2X R8.137 [ 063
NOTES: NOTES:

1. PCB SIZES INCLUDE .03 CLEARANCE FROM INNER WALLS AND 1) ALL UNMARKED RADII .031 UNLESS OTHERWISE SPECIFIED.
SCREW TOWERS WHEN UTILIZING THE MOUNTING BOSSES

: PART NO.

FOUND ON THE VM-35 COVER AND INCLUDES .03 e M -35C2AAPCE

CLEARANCE WITH EITHER THE TWO AA OR ONE 9V BATTERY Tﬁj;";‘&?;gég%ké% 512(; PRODUCT

COMPARTMENT ON THE VM_35 BASE' THREE PLACE DEC|MA|_.:-2'4005 _ 1305 CHESTER IND. PARKWAY AVON, OHIO 44011-1083 U.S.A.
2. SngE%/Sl)SSSEéRVE/\l/I\_/g ?%E/EIUAA'\L f\ lBlL)I(E }:/R guRPEOAREaEII\E/)\lNG PROPRIETARY AND CONFIDENTIAL CLENT I PH#: ]-800-2'?%1?_3;-440_934_0444 FAX#:440—934-00|;8EV

- "DRAWNG IS THE SOLE PROPERTYOF | Secondary Operations
= EAD PO A EenL o we o A Drowing -
ZONE|REV. DESCRIPTION BY |APPR'D| DATE PERMISSION OF POLYCASE IS PROHIBITED. D.MF.  9/5/2008
REVISIONS CAD FILE: VM-35C2AA-PCB CD|—|REAC\ZVIZ§D - 12/31/2999 SCALE: 111 @G SHEET 1 OF 1

5 4 3 2 1



Infra-red readings for 0.100" thick panel

100.0 _
90 |
80
70
60 |
50 |
%T
40 |
304

20 |

10 4

-1.0 7

T T T T T T T T 1
225.0 300 400 500 600 700 800 900 1000 1100.0
nm




	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View17
	Drawing View19
	Drawing View21
	Drawing View22

	VM-35BMB2AA.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View7
	Drawing View4
	Drawing View5
	Drawing View6


	VM-35BMB19V.PDF
	Sheet1
	Drawing View1
	Section View A-A
	Drawing View7
	Drawing View4
	Drawing View5
	Drawing View6


	VM-35BOOT.PDF
	Sheet1
	Drawing View1
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9


	VM-35C.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View4
	Drawing View5
	Drawing View6


	VM-35EP.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View5


	VM-D2.PDF
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View6
	Drawing View7


	VM-35BMB2AA-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


	VM-35C2AA-PCB.PDF
	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4



